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Problem #l: find the mobility for the following
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Problem #1: find the mobility for the following mechanism. Note that the area is single link.
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Problem #1: find the mobility for the following mechanism. Note that the shaded area is single link.
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problem: derive thc follwing position vector equation to find the velocity ro: and i if all the angles are

known, r':2 is input and link dr is fixed :
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problem: derive the follwing position vector equation to find the velocity (Dr and i if all the angles are

known, ro2 is input and link dr is fixed :
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Problem: consider the following gear train
If gear (i ) is input and has velocity equal 100 RPM. Find the output gear velocity.
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